
 

AWNING TO FRONT RUNNER 

ROOF RACK 

 FITMENT INSTRUCTION 

 

 

 



LIST OF COMPONENTS: 

 

 

 

ITEM NO. PART NUMBER QTY. 

1 Front Runner Roof Rack 1 

2 Awning Assembly 1 

3 Rear Awning Bracket – Front Runner 1 

4 Forward Awning Bracket – Front Runner 1 

 

 



 

 

 

 

 

 

 

REAR AWNING MOUNT 

FORWARD AWNING MOUNT 



ITEM 3 - REAR AWNING MOUNT 

 

 

ITEM 4 – FORWARD AWNING MOUNT 

 

 

 

 

 



 

 

 

 

Packing list for Front Runner Brackets 

ITEM QTY 

M8x70mm Button head Screw 4 off 

M8x20mm Button head Screw 8 off 

M8 Flat Washer 12 off 

M8 Nylock Nut 12 off 

 

M8x20mm Button Head Screw 

M8x70mm Button Head Screw 

M8 Flat Washer 

M8 Nylock Nut 

M8x20mm Button Head Screw 

M8x70mm Button Head Screw 

M8 Flat Washer 

M8 Nylock Nut 



 

 

 


